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Time : 3 Hours

Instructions : i) Answer in sanskrit/Kannada/Engtish.
ii) Question r, v and vt-shautd be answered in

Sanskrit onty.

t. *rfi*+S3tftiqrfrr*a 
r

doomd *E.hJqsoxr udouro :

Select and write the correct answer :

t) Bmnsnrqsqatq: ?

3T) 4ffi1 qI) t+fg:

2) gurr*rnrAqftq'ri: qR t
3T) qIileH',r 3TD qfrffir

$ *lftrers:

E)

3) {d':6': ? |

3{) ergt: sT[ gr:

4) intfi:6En: g+aFro: ?

or) rytg: orT) ;rqr:

5) tflrq.m. ?

3T) Efr: af ftrzr:

6) g;tryt;6. ?

3I) trt$: efl yugu:

A tfin.swemiq: ?

3r) frHis af sguT:

8) g{rursffi:s: ?

3r) trflr aTD ftru:

E) qFrq:

$ T0:

I semester 8,.+/Br!."f.s". (FAD) Examination, Aprir/Ma y 2021
(CBC_S) (F+H) (2014-15 and Onwards)

LANGUAGE SANSKRIT - I
Kumarasambhavam - lr canto, Grammar and comprehension

s) qdurs

$l qrtH:

$ffi

$ rffi:

$ tq'

$ rsr

t) w,

{) q.q{q

$ ftrq'
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Max. Marks : 70

(1€x1=10)

P.T.O.

ftg:

erfr:

$ F-n:



QP - 0e2 .2- ilfililllllllllfllllfillffillillfil

e) qkg,-d f,{: s: ?

3T) qRT: q mrk<ru: $ rrrur: $ .{tqt

10) qqmsT ${r {q sR Erg: qrrrlzi Yiqft ?

aT) S+r*q s{D Hrr$Fr O frr+s €l {qs
i

ll. eu}: v[{fr: TdtftTqa I (2x10=20}

add: dd;terl en:do*:

Answer any two of the fotlowing :

t ) qnftrfl-{s *fi-qffi-fur-B-fr : aTf}r5rq s-q-*T*it ftrqil I

aeearid d edd- ta e.:- d ed ** 
B.B 

dd&4 dlod> { u ofrd$", z^:d ou:o

WriteaneSSayonlife-date-placeandworksofKaIidasa.

z) gHKsHr+{q trdq v,le g*i-i fusd i

dcdn dio?i'dd adddodl drir d moa odddl ud ouo.

Write the summary of the second canto of Kumarasambhavam.

:.il E tdl;tt qRFIt lErctullt 1-t c\)"'

deddrld agdrdo$d1adoxr.
hnnariha *lra raar raa* af l1ar{olJEDt llLrl, LllI, t(iqlJgot \,,l \,.ULIr).

111. a*ruritfr"rrrq3rgdri5drft-flfr | (3x4=12)
;it racb dsdriddleo:raaax, adox :

Translate and explain pny three shlokas :

11 ffiape-uqftqFrguDqr{r
v{si g<.rqrqT s.rf,frt}Tfrqrfr-q t t

c\ :raffi*.+u-.TaJrr l1Ll f a_ra-r'l tt't_\t\ \r *lrr:r'r-r \r-.4 I r

3il-dwHt fui srflT{q rnu-o1I

s) frkdgffiafurftqQng{r I

ffiEe$rqllft E+ff$-d EG-fi H: I I

; 4) ffiqsqqrRmi yomqffia-or, t

fr?-ffir {q rkTT: v6mrmHerflr{ 1 r

5) q ffiiEkqg: rcururr&q i

qrqeqRrceTAE srqftilfdqnmt t t
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tv. qr#rf,Ti qq<*f ft-{Jd I 1 2x4=B)
odd> aadrdddl dodgr dE d adoa.
Explain with reference to context any two of the following :

1 ) sidflq{trR ftq.i srm{Ts.ffi I

2) qfrqeffi*nqirwrgwsqft;61 | i

3) *i 1@ ft-or t4*qfr td* I

4) axs re: gkri BGilT*-d mHA

v. iq-oqrwrflrFrftrea r

sT) qqnifrs-fcqR-Tfirftfud: (s*i=sl

1) u{q-r

2) qri

3) dmqi
4\ tqi
s) iti
6) fr-d'r

I

7') tqt

8) qr

sn) Tqmis6Rguu-qqqrft-ft4cai: (sxl=s)

1) eqqft i

2) qEqf,: j.

3) Tdg f

4) q-dft

, 5) 'r€Tft
6) 3rr+(

7) ETq

B) 6tft
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vl. sq qHd qB6q I ygilil-gf,{TFr ft€-d I (sx2=10)

qn-{ffi 6ri-*qi s{rffiqqft I 31ffiq cftfi qt; qr**fis ffini otfr r

r< sft=*i ftfr{rr-dq sqr+q}ri tft a<6 Tfl: r ffi srrsr;q:i. q-qffir
qr*qom$-qi w{frqfr E*: **M r ereqr{firA,t€rptr ffirii qagqt: T16 riT{ft,
rr6m+{i q,rqd *dr HRrTri qkffifr r rdqr 3tF{FEfrqqEE *fiq I

]rFn.

t) qffqffiftsyrwdqqR a

2) Etr*fiffiTqrrftsrrErR ?

s) 6H *-qi sh q,{tFr qrrqys{fr ?

+) erryqr*rd6ErT: *: vr{iilffi ?

s) frsreffHrnrimeiqfrffifr ?

\


